The cat on the sofa.
Answer:

The dog its tail.

Answer:

The bird in its cage.
Answer:

The fish in the pond.
Answer:

The rabbit carrots.
Answer:

The horse in the meadow.
Answer:

The monkey on the tree.
Answer:

The turtle slowly.
Answer:

The lion its prey.
Answer:

The kangaroo high.

Answer:

A2



The cat on the sofa.
Answer: is sitting

The dog its tail.
Answer: is wagging

The bird in its cage.
Answer: is chirping

The fish in the pond.

Answer: is swimming

The rabbit carrots.
Answer: is eating

Answers

The horse in the meadow.

Answer: is running

The monkey on the tree.

Answer: is climbing

The turtle slowly.
Answer: is moving

The lion its prey.
Answer: is hunting

The kangaroo high.
Answer: is jJumping



